A # # (HERB)

BifE B S F106409801H BEH )= 5T
NE sz K % OuT IN  GR  HDCP = NET &% NE 52 K % OuT IN  GR  HDCP = NET kel
1 X == 42 39 81 11.0 70.0 BG B 51 #EHE #¥XK 52 53 105 25.0 80.0
2 RE KB 45 43 83 17.0 71.0 52 EX BEA 48 45 93 13.0 80.0
3 =@ B 43 45 88 16.0 72.0 53 EKI HKE 49 50 99 19.0  80.0
4 ot S 40 45 8  13.0 72.0 54 L #2&#8 48 55 103 22.0 81.0
) A% RE 41 41 94 220 72.0 55  HFx ¥ 57 54 111 30.0 81.0
6 ¥i+B # 45 50 95 220 73.0 56 BK W 52 48 100 19.0 81.0
1 WE FZ 4 43 81 140 73.0 57 A+ B 49 50 99 17.0  82.0
8 ZR —s8h 44 46 90 17.0 73.0 58 B #8h 53 | 51 104  22.0 82.0
9 BHE R 43 43 86 13.0 73.0 59 gY] KX 4 47 92 10.0 820
10 g =A 44 44 88 15.0 73.0 60 AR K& 50 46 96 14.0 82.0
11 s 5EE 44 43 87 13.0 740 BG A-1 61 ZH BXx 48 57 105 22.0 83.0
12 8% #lsh 53 52 105 31.0 74.0 62 TR = 50 | 52 102 19.0 83.0
13 ®B& RARBER 48 46 94 20.0 740 63 Il FE 49 51 100 17.0 83.0
14 59 [EF 49 51 100 26.0 74.0 64 {EH HE 54 60 114 31.0 830
15 XB &L 46 44 90 16.0 74.0 65 WK I 47 51 98 15.0 83.0
16 N %= 4 45 89 150 74.0 66 iwmil f1F 0 46 50 96 12.0 84.0
17 kR =@ 41 46 87 12.0 75.0 67 BEH B= 56 = 67 123 38.0 85.0
18 BEH E® 54 48 102 27.0 75.0 68 EfE EA 48 62 110 25.0 85.0
19 A EF= 43 42 8  10.0 75.0 BG A-I 69 Wi A 49 460 95 10.0  85.0
20 JEH &¥ 45 48 93 18.0 75.0 10 BHA B4& 94 | 55 109 23.0 86.0
21 #E BAE 48 43 91 16.0 75.0 1 -5 E—8 51 48 99 12.0 87.0
22 A& $Fa 48 49 97 21.0 76.0 12 At Imifg 60 56 116 28.0 88.0
23 =% Xk 55 60 115 39.0 76.0 13 €H KB 51 60 111 23.0 88.0
24 N E SR 59 | 51 110  34.0 76.0 74  EH {E%® 49 57 106 15.0 91.0
25 mE EiX 48 43 91 15.0 76.0 15 Frh BEY 64 57 121  28.0  93.0
26 PR R 41 49 90 14.0 76.0 16 ZEH 24 5/ | 58 115  21.0  94.0
21 HE S 52 | 53 105 28.0 77.0 11 EE: ikl 93 | 71 124 29.0  95.0
28 Jug FEsE 43 49 92 15,0 77.0 18  {HFHX Fi& 63 62 126 20.0 105.0
29 FEHK Rt 44 43 87 10.0 77.0
30 22X &#A 52 46 98 20.5 71.5
31 wx #HL 5 | 52 107  29.0 78.0
32 HE X5 51 | 56 107 29.0 78.0
33 BXK W 4 48 92  14.0 78.0
34 mAK #%= 47 47 94 16.0 78.0
35 #®mL ®m= | 40 43 83 5.0 78.0
36 X% B5 52 | 51 103  24.0 79.0
317 BR # 49 48 97 18.0  79.0
38 TEEH =HIZ 46 49 95 16.0 79.0
39 HR B 53 | 50 103 24.0 79.0
40 HEE #HM—B 47 49 96 17.0 79.0
41 wi - 50 | 51 101  22.0  79.0
42 A+ HI% 48 54 102 23.0 79.0
43 A = 50 | 55 105 26.0 79.0
44 mE FR{E 46 42 87 8.0 79.0
45 mH = o6 = 48 104 25.0  79.0
46 f&F F»x 45 50 95 15.0 80.0
4] &k RBIA 52 | 50 102 22.0 80.0
48 =# mM®E 5 | 47 102  22.0 80.0
49 tHF = 46 52 98 18.0  80.0
50 ®HAK KX 48 51 99 19.0 80.0

BRAE HDCP - EBEIEML FREESE




